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Note:- You bave four cnoices for aach objeclive type question as A8, C and D, The choice which you think is correct, fill that circle in front of
that question number. Use marker or pen te fil! the circles. Cutting or filing two or more circles will result in zero marks :n that question,

1= (1) Majority of the Pakistani public is --‘erf/‘-”'xful'ﬁl (1) -1
veryrich ¢t =« (D) criminaled  (C) rich A(B)  poor  —cF (A)
{2) Major profession of rural people is ey iy Fui s (2
service o=l (D) agriculture  =#L; (C) business A& (B) industry = {A)
(3) Duty of " Imam Masjid" is e 2K Tl (3)
all of these U - (D) Imamat =t () teacher =/ (B) doclor h_.:.‘l’ff-,bA(A]

{4y Political leader must be -l b nr & Ul (4)
honest el (DY careless  ohigll {C)  wicked S (B) lazy = (A)

{5} Secondary occupation is ce e Pk (5)
poultry farming ;_;Lf/ : agriculture X (A)
blacksmith e fish farming Sz L (©)

(6) Formal educational institution 1s 1’ et § (2 (B)
ek

allof these rl. (D) university (/2 ;._fé‘ifcoliege t¥ (B) school J& (A

(7) Which one of the following is asocial problem? =~ - Se 3P o e i (7)
aover population d;gﬁ;-‘)l {0} earthquack J/.r {C} rains V::l (B) flood i (A)

(8) Cause of over population is o8 _IL__»&};;T b4 (8)
desire of son 170z (D) wealth & (C) poilution” ST B education r‘f‘: (A)

(9) The founder of Mughlia empire was ’ _iEL.,LL oz ob - (9
Baber .« (D} Shah Jehan Uiz {Cy Akbar ;"'I.' {B) Alan?’; ,f:L‘ {A)

(10} Cause of poverty is ' _‘.._.m_,._, 7 (10)

- . " # 1= o
over population (7 LA (D) agriculture  =#LJ (C) pollution el [g? literacy u,.,? (A)

{11) Aryans belonged to race -& LT
white & (D) mixed ¥ {C) yellow s {B) biack résl  (A)

(12) Family system of dravidians was el Ll fuaiis (12)
none of these u’.?}-'j;':f_p;_;.‘.;_»)l (D) mixed b F {C)} patriarchal 'J/,u; (B} matriachal g »l (A)

(13) Mohenjodaro is situated in = Eis s (13)
Sindh Z»s- (D) Balochistan (2ubzs (G} KPK  £1F% 2 (B) Punjab o (A)

{14) An official language of India during Muslim Rule was 2 {}L; u;b’/ g Lt e st (14
Persian J.i (D} Hindi $&t  (C) Sunsikrat .,/C’ Urdu s {A)

{18) Aryans were resident of i gpe’ LT {15y
Europe sy (D)  Central Asia .y?!uki (C)  America LB Africa 24 1A)

(168) Formal education systemn in sub-continent was introduced by " 5'//_315'»(1@ (e S LA 18)
Muslims & usU- (D) British iusz S (C) Aryans L L7 (B) Dravidians & Uihis (A)

{17) Gawader is situated in -5 S’
Punjab (i (D) KPK (2i#% 2 (C) Sindh fes- (B) Balochistan fusir (A

(18) Capital city of Punjab province is -eyfg"xf: i o (18]
Muitan @2 (D) Rawalpindl ($idsl (C} Lahore  .xlU (B} Faisalabad ,-',-'U"‘i; (A

(19) “:Umar Marvi" is folk story of ce Y s A (19
sindh  »4~ (D) Balochistan Jutz4  (C) KPK (7% 2 (B) Punabjoi (A

(20) Rehman Babais poet of s AE oyt (20)
Pushto £5% (D)  Sindhi L%  (C) Urdu Lo (B)  Pumjabi <lv (A
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Note:- Section | is compulsory. Attempt any three (3) questions fr)om Section I
;jﬁﬁ'

Section - |
Write short answers to any Eight parts : {8x2=16)
. Describe the cultural background of Pakistani society.
i. Define Race.

Z;

ili. Who were Dravidians?

. How was Harappa discovered?

. Describe two characteristics of Aryans.

. Describe two characteristics of British in sub-continent.

b

vil.

Write four names of Aryans caste system .

vili. Explain two factors on which ideology of Pakistan is based.

. Who was Saka?

. Explain the enterance of Arabs in to sub-gcontinent.

i. Write two impacts of Islamic givilization on sub-continent.

ii. State two steps to promote national integration, ;
Write short answers to any Eight parts : (8x2=18)

i. What is meant by culture?

. Write down the names of languages spoken in Punjab.

iii. Define Migration.

. Write down the names of four Pakhtoon tribes.

. Onwhich people , Jirga is consists of

. Define rural settlement.

Define Hamlet.

Write down four reasans of the backwardness in rural areas.

vil.

Wil
. Define rate of dependent population.
. Define Census.
i, Write down two sources of population information.
i. Define migration.

Write short answers to any Nine parts : (9 x2=18)
i. Define Kinship.
i. Write two functions of rural family.
iii. Write two reasons for getting married in fraternity.
. Which are religious institutions in rural Punjab?
. Describe the role of masjid.
i. Describe the importance of economic institution.
ii. Describe two functions of farmer in rural Punjab.
iil. Write two functions of education.
. Describe the importance of education.
. Define nursery schoals.
Define political leadership.
i, Define over population.
it. Define family planning.

{Section - i) Each guestion carries {10} marks

Describe salient features of Indus valley civilization
Point out the problems faced by national integration in Pakistan.
Explain the types of rural settlement in Punjab.

=4

Write down the rural primary occupations.

L @ N9

Describe the causes of illiteracy.
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